61.08km’ 3,030ha
1,800ha
20 40
55 9
220 9
3,030ha
6.40 /s «¢1,200mm>=<1 1,000mm>=<1 700mm>=<1
2.47 /s ¢ 800mm>=<1 700mm><1
6.0 /s @1,200mm><2
9.0 /s 1,200mm><3
26.1km
1.9km 3.73 /s
6.9km 3.51 /s
3.8km 2.89 /s
3.0km 2.47 /s
3.1km 1.41 /s
7.4km 1.52 /s
1 ( 3,030ha 63 ) S55 - H 8
11 ( 1,679ha 53 ) S54 - H 3
3 ( 2,937ha 247 ) S55 - H11
¢))
55 21 12 24 13
12 55 32 6.1
2
12 13 55 15
15 12 “4 )
@A)
14 3 ha
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55 28
91
55 26 2,808
15 59 7 10
30 53
2,820ha 55 21
90
1.2ha 2
3,770ha 55 21
40
22 55
55 100 7,418
1,650 443
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11
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